Name: 

Empower Yourself
Chemistry 

Empower Your Community
Date:










   Empower Your World

Period:

District 6 Assessment

1. 
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2.

[image: image2.png]The volume of 400 mL of chlorine gas at
400 mm Hg is decreased to 200 mL at constant
temperature. What is the new gas pressure?

A 400 mm Hg
B 300 mm Hg
C 800 mm Hg
D 650 mm Hg




3.

[image: image3.png]Under what circumstance might a gas decrease

in volume when heated?
A The gas is held constant at STP.

B The gas remains under uniform temperature.
€ The gas is placed under increasing pressure.
D The gas undergoes a decrease in pressure.




	1. D 

2. C

3. D
	3 points possible; 1 point per correct answer


4. Why does the random motion of gas molecules explain the process of diffusion?

	Gases do not move in a straight line, rather they are in constant random motion. Therefore, they spread out in random directions and fill the room in the process of this motion. This is what allows for the gas to diffuse throughout the entire room.
	1 point for relating motion with diffusion


5. You run a lab where you manipulate temperature and pressure of a gas. Using the data below, answer the questions that follow

Table 1 – Temperature and Pressure Data
	Temp (K)
	Pressure (atm)

	100
	4

	200
	8

	300
	12


a. What is the relationship between temperature and pressure?

	As the pressure of a system increases, the temperature of the system must also increase in order to counteract this change.
	1 point for description of the relationship



b. What is the equation that describes this relationship? Whose law is this?

	
[image: image4.wmf]
	1 point for correct equation

1 point for correct law


c. Draw a graph for the relationship between temperature and pressure. NOTE – you do not need to use the data above when making your graph.

[image: image1.png]When someone standing at one end of a large
room opens a bottle of vinegar, it may take
several minutes for a person at the other end to
smell it. Gas molecules at room temperature
move at very high velocities, so what is
responsible for the delay in detection of the

vinegar?
A the increase in the airspace occupied by
vinegar molecules

B the chemical reaction with nerves, which is
slower than other sensory processes

C  attractive forces between the air and vinegar
‘molecules

D random collisions between the air and vinegar
‘molecules







	See graph above
	1 point for correct graph


d. You have a gas at STP, using the equation from part b, calculate the new pressure at 150 K. HINT – use the equation you listed in b.
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	1 point for correct equation setup

1 point for correct answer with units


District 6 Assessment Final Scoring Guide

	Total Points Possible
	10

	Points Required for a 90%
	9

	Points Required for a 80%
	8

	Points Required for a 70%
	7
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